

INTERPOLATION BY RATIONAL FUNCTIONS

M. Pap (Pécs, Hungary)

F.Schipp (Budapest, Hungary)

Dedicated to the 65th birthday of Professor Imre Kátai

Abstract. The main contribution of the paper is to construct discrete biorthogonal systems to a given system of rational functions. This can be used to construct interpolation processes on nodes (1.2) of the unite circle. Using a discrete analogue of the Cauchy integral formula the biorthogonal systems and the interpolation operators can be given in a useful explicit form. In special cases a lower and upper estimation is given for the norm of the interpolation operators.

1. Introduction

Denote by \mathbb{C} the set of complex numbers and let $\mathbb{D} := \{z \in \mathbb{C} : |z| < 1\}$ be the open unite disc. The disc algebra, i.e. the set of functions continuous on $\overline{\mathbb{D}} := \{z \in \mathbb{C} : |z| \leq 1\}$ and analytic in \mathbb{D} will be denoted by \mathcal{A} (see [2], [3]). In this paper we interpolate by rational functions belonging to the m -dimensional subspace $\mathcal{R}_m \subset \mathcal{A}$, generated by the collection

$$(1.1) \quad \phi_{k\ell}(z) := \frac{z^{\ell-1}}{(1 - \bar{a}_k z)^\ell} \quad (z \in \mathbb{C}, 1 \leq \ell \leq m_k, k = 1, 2, \dots, n).$$

Here $a_k \in \mathbb{D}$, $m_k \in \mathbb{N}^* := \{1, 2, \dots\}$ ($k = 1, 2, \dots, n$) are fixed numbers and $m_1 + m_2 + \dots + m_n = m$. We note that the function $\phi_{k\ell}$ has a pole in

$a_k^* := 1/\bar{a}_k \notin \overline{\mathbb{D}}$ of multiplicity ℓ . In the case $a_k \neq 0$ ($k = 1, 2, \dots, n$) \mathcal{R}_m is the same as the set of rational functions generated by the collection

$$\varphi_{k\ell}(z) := \frac{1}{(1 - \bar{a}_k z)^\ell} \quad (z \in \mathbb{C}, \quad 1 \leq \ell \leq m_k, \quad k = 1, 2, \dots, n).$$

If $n = 1$ and $a_1 = 0$ then the set \mathcal{R}_m coincides with the set of polynomials \mathcal{P}_{m-1} of degree $m - 1$.

We shall consider interpolation processes on the set of nodes

$$(1.2) \quad \mathbb{T}_N := \left\{ e^{2\pi i \ell / N} : \ell = 0, 1, \dots, N - 1 \right\} \subset \mathbb{T} := \{z \in \mathbb{C} : |z| = 1\}$$

in the unit circle \mathbb{T} . We construct a collection $\Phi_{k\ell}$ ($1 \leq \ell \leq m_k$, $k = 1, 2, \dots, n$) of polynomials, biorthogonal to (1.1) with respect to the following scalar product on \mathbb{T}_N :

$$(1.3) \quad [F, G] := [F, G]_N := \frac{1}{N} \sum_{z \in \mathbb{T}_N} F(z) \overline{G(z)}.$$

The polynomials $\Phi_{k\ell}$ are weighted fundamental polynomials of Hermite interpolation with respect the nodes a_k ($k = 1, 2, \dots, n$).

Denote

$$(1.4) \quad \epsilon_n(z) := z^n \quad (z \in \mathbb{T}, \quad n \in \mathbb{Z})$$

the trigonometric system (see [7]). The restriction of the functions ϵ_k ($k = 0, 1, \dots, N - 1$) to \mathbb{T}_N , i.e. the discrete trigonometric system is orthonormal with respect to the scalar product (1.3), i.e.

$$(1.5) \quad [\epsilon_k, \epsilon_\ell]_N = \delta_{k\ell} \quad (0 \leq k, \ell < N).$$

This implies that for any two polynomials

$$F(z) := \sum_{k=0}^{N-1} c_k z^k, \quad G(z) := \sum_{k=0}^{N-1} b_k z^k \quad (z \in \mathbb{C})$$

we have

$$(1.6) \quad [F, G]_N = \sum_{k=0}^{N-1} c_k \bar{b}_k.$$

In Section 2 we prove a discrete analogue of the Cauchy integral formula. This will be used in Section 3 and 4 to construct systems biorthogonal to the rational system introduced in (1.1). In Section 3 we investigate the Lagrange interpolation. In the special case $a_k := \rho e^{2\pi i k/N}$ ($k = 0, 1, \dots, N-1$) we give an explicit formula for the interpolation operator and we estimate the norm of this operator.

System identification based upon the partial fraction representation of the transfer function is recognized as a classical approach in systems science [1], [4], [5]. This type of biorthogonal expansion can be used to find the poles of rational functions [6].

2. Discrete Cauchy formula

For any function $F \in \mathcal{A}$ then Cauchy formula

$$(2.1) \quad \frac{1}{2\pi i} \int_{\mathbb{T}} \frac{F(\zeta)}{(\zeta - a)^{n+1}} d\zeta = \frac{F^{(n)}(a)}{n!} \quad (a \in \mathbb{D}, n \in \mathbb{N})$$

holds.

Replacing \mathbb{T} by the discrete group \mathbb{T}_N defined in (1.2) and the integral by the sum

$$(2.2) \quad \frac{1}{2\pi i} \int_{\mathbb{T}_N} F(\zeta) d\zeta := \frac{1}{N} \sum_{\zeta \in \mathbb{T}_N} F(\zeta) \zeta$$

we get a similar formula for polynomials. For a function $F \in \mathcal{A}$ obviously

$$\lim_{N \rightarrow \infty} \frac{1}{2\pi i} \int_{\mathbb{T}_N} F(\zeta) d\zeta = \frac{1}{2\pi i} \int_{\mathbb{T}} F(\zeta) d\zeta.$$

In this paper we shall use the following discrete analogue of the Cauchy integral formula.

Theorem 1. *Let $n \in \mathbb{N}$, $N \in \mathbb{N}^*$ be fixed numbers and denote $P \in \mathcal{P}_{N+n-1}$ a polynomial. i) Then for any $a \in \mathbb{D}$ we have*

$$(2.3) \quad \frac{1}{2\pi i} \int_{\mathbb{T}_N} \frac{P(\zeta)}{(\zeta - a)^{n+1}} d\zeta = \frac{1}{n!} \frac{d^n}{dz^n} \frac{P(z)}{1 - z^N} \Big|_{z=a}.$$

ii) Furthermore if a_0, a_1, \dots, a_n are distinct points in \mathbb{D} , then

$$(2.4) \quad \frac{1}{2\pi i} \int_{\mathbb{T}_N} \frac{P(\zeta)}{(\zeta - a_0) \cdots (\zeta - a_n)} d\zeta = \sum_{j=0}^n \frac{1}{\Omega_j(a_j)} \cdot \frac{P(a_j)}{1 - a_j^N},$$

where

$$\Omega_j(z) := \prod_{\ell=0, \ell \neq j}^n (z - a_\ell) \quad (z \in \mathbb{C}, j = 1, 2, \dots, n).$$

Proof. First we prove (2.3) for $n = 0$. To this end write $P \in \mathcal{P}_{N-1}$ in the form

$$P(z) = \sum_{j=0}^{N-1} c_j z^j \quad (z \in \mathbb{C}).$$

Observe that for $\zeta \in \mathbb{T}_N$ we have $\zeta^N = 1$ and consequently

$$\frac{\zeta}{\zeta - a} = \frac{1}{1 - a\bar{\zeta}} = \frac{1}{1 - a^N} \frac{1 - (a\bar{\zeta})^N}{1 - a\bar{\zeta}} = \frac{1}{1 - a^N} \sum_{j=0}^{N-1} a^j \bar{\zeta}^j.$$

Applying (1.6) for

$$F(\zeta) = P(\zeta), \quad \overline{G(\zeta)} = \frac{\zeta}{\zeta - a} = \frac{1}{1 - a^N} \sum_{j=0}^{N-1} a^j \bar{\zeta}^j \quad (\zeta \in \mathbb{T}_N)$$

we get

$$\begin{aligned} \frac{1}{2\pi i} \int_{\mathbb{T}_N} \frac{P(\zeta)}{\zeta - a} d\zeta &= \frac{1}{N} \sum_{\zeta \in \mathbb{T}_N} P(\zeta) \frac{\zeta}{\zeta - a} = \\ &= [F, G]_N = \frac{1}{1 - a^N} \sum_{j=0}^{N-1} c_j a^j = \frac{P(a)}{1 - a^N} \end{aligned}$$

and for $n = 0$ (2.3) is proved.

To show (2.4) write $P \in \mathcal{P}_{n+N-1}$ in the form

$$(2.5) \quad P(z) = Q(z)(z - a_0) \cdots (z - a_n) + R(z),$$

where $R \in \mathcal{P}_n, Q \in \mathcal{P}_{N-2}$. Applying Lagrange interpolation formula to R we get

$$R(z) = \sum_{j=0}^n R(a_j) \frac{\Omega_j(z)}{\Omega_j(a_j)} \quad (z \in \mathbb{C}).$$

By (2.5) $P(a_j) = R(a_j)$ ($j = 0, 1, \dots, n$) and consequently

$$\begin{aligned} \frac{P(z)}{(z - a_0) \cdots (z - a_n)} &= Q(z) + \frac{R(z)}{(z - a_0) \cdots (z - a_n)} = \\ &= Q(z) + \sum_{j=0}^n \frac{R(a_j)}{(z - a_j) \Omega_j(a_j)} = Q(z) + \sum_{j=0}^n \frac{P(a_j)}{(z - a_j) \Omega_j(a_j)}. \end{aligned}$$

Since $Q \in \mathcal{P}_{N-2}$, the orthogonality of the discrete trigonometric system implies

$$\int_{\mathbb{T}_N} Q(\zeta) d\zeta = 0,$$

and applying (2.3) in the case $n = 0$ for the constant polynom we get (2.4).

Observe that the right hand side in (2.4) can be expressed by the divided differences of the function

$$H(z) := \frac{P(z)}{1 - z^N} \quad (z \in \mathbb{D}).$$

Namely (2.4) is equivalent to

$$(2.6) \quad \frac{1}{2\pi i} \int_{\mathbb{T}_N} \frac{P(\zeta)}{(\zeta - a_0) \cdots (\zeta - a_n)} d\zeta = H(a_n, \dots, a_1, a_0).$$

(Compare e.g. [3], p. 247.)

Since for any $H \in \mathcal{A}$

$$H(a_n, \dots, a_1, a_0) \rightarrow \frac{H^{(n)}(a)}{n!} \quad \text{as } a_j \rightarrow a \quad (j = 0, 1, \dots, n),$$

for $n \geq 1$ (2.3) follows from (2.6).

Taking the limit in (2.3) as $N \rightarrow \infty$ we obtain the continuous variant of the formula.

3. Lagrange interpolation, biorthogonal expansion

In this section using the scalar product $[\cdot, \cdot]_N$ introduced by (1.3) we shall construct discrete biorthogonal systems depending on the vector parameter

$$(3.1) \quad \mathbf{a} = (a_1, a_2, \dots, a_n) \in \mathbb{D}^n,$$

where $a_i \neq a_j$, if $i \neq j$. Namely for $z \in \mathbb{C}$ and $k = 1, 2, \dots, n$ set

$$(3.2) \quad \phi_k(z) := \frac{1}{1 - \bar{a}_k z}.$$

First we show

Theorem 2. *Let $N \geq n$. Then the system*

$$(3.3) \quad \begin{aligned} \Phi_k^N(z) &:= \Phi_k^N(z, \mathbf{a}) := \frac{1 - a_k^N}{\omega_k(a_k)} \omega_k(z), \\ \omega_k(z) &:= \omega_k(z, \mathbf{a}) := \prod_{j=1, j \neq k}^n (z - a_j) \quad (k = 1, 2, \dots, n) \end{aligned}$$

is biorthogonal to the system (3.2) with respect to $[\cdot, \cdot]_N$, i.e.

$$(3.4) \quad [\Phi_k^N, \phi_\ell]_N = \delta_{k\ell} \quad (1 \leq k, \ell \leq n),$$

where $\delta_{k\ell}$ is the Kronecker symbol. Especially if $n = N$ and

$$(3.5) \quad a_k := \rho e^{2\pi i k/N} \quad (0 < \rho < 1, k = 1, \dots, N)$$

then using the notation $\Phi_k^N(z, \rho) := \Phi_k^N(z, \mathbf{a})$ we get

$$(3.6) \quad \Phi_k^N(z, \rho) = \frac{(1 - \rho^N)(z^N - \rho^N)}{N\rho^N} \frac{a_k}{z - a_k} \quad (z \neq a_k, k = 1, \dots, N).$$

Proof. By (2.3) and (3.2) for $1 \leq k, \ell \leq n$ and for $\zeta \in \mathbb{T}_N$ we get

$$\begin{aligned} [\Phi_k^N, \phi_\ell] &= \frac{1}{N} \sum_{\zeta \in \mathbb{T}_N} \Phi_k^N(\zeta) \frac{1}{1 - a_\ell \bar{\zeta}} = \frac{1}{N} \sum_{\zeta \in \mathbb{T}_N} \Phi_k^N(\zeta) \frac{\zeta}{\zeta - a_\ell} = \\ &= \frac{1}{2\pi i} \int_{\mathbb{T}_N} \frac{\Phi_k^N(\zeta)}{\zeta - a_\ell} d\zeta = \frac{\Phi_k^N(a_\ell)}{1 - a_\ell^N} = \frac{1 - a_k^N}{1 - a_\ell^N} \frac{\omega_k(a_\ell)}{\omega_k(a_k)} = \delta_{k\ell} \end{aligned}$$

and (3.4) is proved.

The numbers a_k ($k = 1, \dots, N$) in (3.5) are the roots of the equations $z^N - \rho^N = 0$ and consequently

$$z^N - \rho^N = \prod_{j=1}^N (z - a_j) \quad (z \in \mathbb{C}).$$

Hence we get

$$\omega_k(z) = \frac{\prod_{j=1}^N (z - a_j)}{z - a_k} = \frac{z^N - \rho^N}{z - a_k} \quad (z \in \mathbb{C}, z \neq a_k).$$

Taking the limit as $z \rightarrow a_k$ we get

$$\omega_k(a_k) = \lim_{z \rightarrow a_k} \frac{z^N - \rho^N}{z - a_k} = N a_k^{N-1} = \frac{N \rho^N}{a_k}.$$

Thus in the special case (3.6) follows from (3.3).

The biorthogonal expansion of the function $f: \mathbb{T} \rightarrow \mathbb{C}$ with respect to the system ϕ_k ($k = 1, \dots, n$) is defined by

$$(3.7) \quad (I_{n,\mathbf{a}}^N f)(z) := \sum_{k=1}^n [f, \Phi_k^N(\cdot, \mathbf{a})]_N \phi_k(z) \quad (z \in \mathbb{C}).$$

Obviously $I_{n,\mathbf{a}}^N f \in \mathcal{A}$ and in the case $n = N$ the function $I_{N,\mathbf{a}}^N f$ interpolates f in the points of \mathbb{T}_N :

$$(3.8) \quad (I_{N,\mathbf{a}}^N f)(z) = f(z) \quad (z \in \mathbb{T}_N).$$

Indeed the existence of biorthogonal system implies that the system $(\phi_k, 1 \leq k \leq N)$ is linearly independent on \mathbb{T}_N and consequently every function $f: \mathbb{T}_N \rightarrow \mathbb{C}$ can be written in the form

$$f(z) = \sum_{k=1}^N c_k \phi_k(z) \quad (z \in \mathbb{T}_N),$$

where $c_k \in \mathbb{C}$. Hence by biorthogonality we get $c_k = [f, \Phi_k]$ ($1 \leq k \leq N$), and consequently on the set \mathbb{T}_N (3.8) is satisfied.

Introducing the kernel function

$$(3.9) \quad K_n^N(z, w; \mathbf{a}) := \sum_{k=0}^{n-1} \phi_k(z) \overline{\Phi_k^N(w; \mathbf{a})} \quad (z, w \in \mathbb{C})$$

the operator $I_{n, \mathbf{a}}^N$ can be written in the form

$$(3.10) \quad (I_{n, \mathbf{a}}^N f)(z) = \frac{1}{N} \sum_{k=0}^{n-1} \sum_{\zeta \in \mathbb{T}_N} f(\zeta) \overline{\Phi_k^N(\zeta; \mathbf{a})} \phi_k(z) = \frac{1}{N} \sum_{\zeta \in \mathbb{T}_N} f(\zeta) K_n^N(z, \zeta; \mathbf{a}) \quad (z \in \mathbb{C}).$$

It is easy to see that the norm of the operator

$$I_{n, \mathbf{a}}^N : C(\mathbb{T}) \rightarrow \mathcal{A}$$

is

$$(3.11) \quad \|I_{n, \mathbf{a}}^N\| = \max_{z \in \mathbb{T}} \frac{1}{N} \sum_{\zeta \in \mathbb{T}_N} |K_n^N(z, \zeta; \mathbf{a})|.$$

If $n = N$ and a_k is defined by (3.5) then the operator (3.7) depends on N and ρ and will be denoted by $I_{N, \rho}$:

$$I_{N, \rho} f := \sum_{k=0}^{N-1} [f, \Phi_k^N(\cdot, \rho)] \phi_k \quad (a_k := \rho e^{2\pi i k / N}, k = 1, \dots, N-1).$$

In this case the kernel K_N^N can be written in a useful closed form.

Theorem 3. *Let $a_k := \rho e^{2\pi i k / N}$ ($0 \leq k < N$). Then the kernel K_N^N is of the form*

$$(3.12) \quad K_N^N(z, w; \mathbf{a}) = \frac{(1 - \rho^N)w}{1 - (\rho z)^N} \frac{z^N - w^N}{z - w} \quad (w \in \mathbb{T}_N, z \in \mathbb{C}, z \neq w),$$

$$K_N^N(w, w; \mathbf{a}) = N \quad (w \in \mathbb{T}_N).$$

Furthermore there exist constants C_1, C_2 independent on N and ρ such that

$$(3.13) \quad C_1 \frac{1 - \rho^N}{1 + \rho^N} \log N \leq \|I_{N, \rho}\| \leq 1 + C_2 \frac{1 - \rho^N}{1 + \rho^N} \log N \quad (N \in \mathbb{N}^*).$$

Proof. If $w \in \mathbb{T}_N$, $z \in \mathbb{C}$ and $z \neq w$ then by (3.6) we get

$$\begin{aligned} K_N^N(z, w; \mathbf{a}) &= \\ &= \frac{(1 - \rho^N)^2}{N\rho^N} \sum_{k=0}^{N-1} \frac{1}{1 - \bar{a}_k z} \frac{\bar{a}_k}{\bar{w} - \bar{a}_k} = \frac{(1 - \rho^N)^2 w}{N\rho^N} \sum_{\zeta \in \mathbb{T}_N} \frac{\rho\zeta}{(\zeta - \rho z)(\zeta - \rho w)} = \\ &= \frac{(1 - \rho^N)^2 w}{\rho^N} \frac{1}{2\pi i} \int_{\mathbb{T}_N} \frac{\rho d\zeta}{(\zeta - \rho z)(\zeta - \rho w)} = \\ &= \frac{(1 - \rho^N)^2 w}{\rho^N} \frac{1}{z - w} \frac{1}{2\pi i} \int_{\mathbb{T}_N} \left(\frac{1}{\zeta - \rho z} - \frac{1}{\zeta - \rho w} \right) d\zeta. \end{aligned}$$

Applying (2.3) we get

$$\begin{aligned} K_N^N(z, w; \mathbf{a}) &= \\ &= \frac{(1 - \rho^N)^2 w}{\rho^N} \frac{1}{z - w} \left(\frac{1}{1 - (\rho z)^N} - \frac{1}{1 - (\rho w)^N} \right) = \frac{w(1 - \rho^N)}{1 - (z\rho)^N} \frac{z^N - w^N}{z - w} \end{aligned}$$

and the first part of (3.12) is proved. Taking the limit as $z \rightarrow w$, we get the second part of (3.12).

To prove (3.13) for any $\zeta = e^{2\pi ik/N} \in \mathbb{T}_N$ and $z = e^{2\pi it} \in \mathbb{T}$ set

$$F_N(t) := \frac{1}{N} \sum_{\zeta \in \mathbb{T}_N} \frac{|z^N - \zeta^N|}{|z - \zeta|}, \quad G_N(t) := \frac{|\sin N\pi t|(1 - \rho^N)}{|1 - \rho^N e^{2\pi i N t}|} \quad (t \in \mathbb{R}).$$

The function F_N is periodic with period $1/N$. Thus we can assume that $|t| \leq \frac{1}{2N}$ and $F_N(t)$ can be written in the form

$$F_N(t) = \frac{|\sin N\pi t|}{N|\sin \pi t|} + \frac{|\sin N\pi t|}{N} \sum_{k=1}^{N-1} \frac{1}{\sin \pi(\frac{k}{N} - t)} = \frac{|\sin N\pi t|}{N|\sin \pi t|} + |\sin N\pi t| L_N(t),$$

where

$$L_N(t) := \frac{1}{N} \sum_{k=1}^{N-1} \frac{1}{\sin \pi(\frac{k}{N} - t)} \quad \left(|t| \leq \frac{1}{2N} \right).$$

Then by (3.12)

$$G_N(t)L_N(t) \leq \frac{1}{N} \sum_{\zeta \in \mathbb{T}_N} |K_N^N(z, \zeta)| \leq G_N(t)L_N(t) + \frac{(1 - \rho^N)}{|1 - \rho^N e^{2\pi i N t}|}.$$

It is easy to see that

$$(3.14) \quad \max_{t \in \mathbb{R}} G_N(t) = \frac{1 - \rho^N}{1 + \rho^N}, \quad \min_{t \in \mathbb{R}} |1 - \rho^N e^{2\pi i N t}| = 1 - \rho^N$$

and

$$(3.15) \quad \frac{1}{\pi}(\log N - 1) \leq L_N(t) \leq \log N + 2 \quad (t \in \mathbb{R}, N \geq 2)$$

and (3.13) follows from (3.14) and (3.15).

To show (3.15) set $N = 2N' + r$ ($r = 0, 1$) and take the decomposition

$$\begin{aligned} L_N(t) &= \\ &= \frac{1}{N} \sum_{k=1}^{N-1} \frac{1}{\sin \pi(\frac{k}{N} - t)} = \frac{1}{N} \sum_{k=1}^{N'} \frac{1}{\sin \pi(\frac{k}{N} - t)} + \frac{1}{N} \sum_{k=N'+1}^{N-1} \frac{1}{\sin \pi(\frac{k}{N} - t)} = \\ &= \frac{1}{N} \sum_{k=1}^{N'} \frac{1}{\sin \pi(\frac{k}{N} - t)} + \frac{1}{N} \sum_{k=1}^{N'+r-1} \frac{1}{\sin \pi(\frac{N-k}{N} - t)} = \\ &= \frac{1}{N} \sum_{k=1}^{N'} \frac{1}{\sin \pi(\frac{k}{N} - t)} + \frac{1}{N} \sum_{k=1}^{N'+r-1} \frac{1}{\sin \pi(\frac{k}{N} + t)}. \end{aligned}$$

Hence we get

$$\frac{1}{N} \sum_{k=1}^{N'-1} \frac{1}{\sin \frac{(2k+1)\pi}{2N}} < L_N(t) < \frac{2}{N} \sum_{k=1}^{N'} \frac{1}{\sin \frac{(2k-1)\pi}{2N}}.$$

Applying the inequality

$$\frac{2}{\pi}x \leq \sin x \leq x \quad \left(0 \leq x \leq \frac{\pi}{2}\right)$$

we have

$$\frac{1}{\pi} \sum_{k=1}^{N'-1} \frac{1}{k+1/2} \leq L_N(t) \leq \left(1 + \sum_{k=1}^{N'-1} \frac{1}{k+1/2}\right)$$

and consequently (3.15) holds. From (3.15) we get that (3.13) is satisfied for $C_1 = 1/10$, $C_2 = 2$ and $N \geq 4$.

Applying (3.13) for a sequence ρ_N ($n \geq 4$) we get

Corollary. *If for the sequence ρ_N ($n \geq 4$)*

$$\left(1 - \frac{1}{\log N}\right)^{1/N} \leq \rho_N < 1 \quad (N \geq 4)$$

is satisfied, then the interpolation operators I_{N,ρ_N} ($N \geq 4$) are uniformly bounded

$$\sup_{N \geq 4} \|I_{N,\rho_N}\| \leq 3.$$

4. Biorthogonal systems in the general case

Generalizing the construction of Section 3 we fix the complex vector

$$\mathbf{a} = (a_1, a_2, \dots, a_n) \in \mathbb{D}^n,$$

where $a_i \neq a_j$, if $i \neq j$ and consider the rational functions

$$(4.1) \quad \phi_{k\ell}(z) := \phi_{(k,\ell)}(z) := \frac{z^\ell}{(1 - \bar{a}_k z)^{\ell+1}}$$

$$(z \in \mathbb{C}, k = 1, 2, \dots, n, \ell = 0, 1, \dots, m_k - 1),$$

where $m_1, m_2, \dots, m_n \in \mathbb{N}^*$ are given numbers. Obviously the numbers $a_k^* := 1/\bar{a}_k$ are the poles of $\phi_{k\ell}$ with the multiplicity $\ell + 1$. Set

$$(4.2) \quad \begin{aligned} \mathbf{m} &= (m_1, m_2, \dots, m_n), \quad m := m_1 + \dots + m_n, \\ \mathcal{J}_m &:= \{(i, j) : j \in \mathbb{N}, 0 \leq j < m_i, i = 1, 2, \dots, n\}. \end{aligned}$$

We show that there exists a collection of polynomials

$$\Phi_{k\ell} = \Phi_{(k,\ell)}^{\mathbf{m}}(\cdot, \mathbf{a}) \in \mathcal{P}_{m-1} \quad ((k, \ell) \in \mathcal{J}_m)$$

such that the systems

$$(\phi_i, i \in \mathcal{J}_m), \quad (\Phi_i, i \in \mathcal{J}_m)$$

are biorthogonal with respect the scalar product $[\cdot, \cdot]_N$, if $N \geq m$, i.e.

$$(4.3) \quad [\Phi_{k\ell}, \phi_{rs}]_N = \delta_{kr} \delta_{\ell s} \quad ((k, \ell), (r, s) \in \mathcal{J}_m).$$

Moreover the polynomials $\Phi_{k\ell}$ can be written in the form

$$(4.4) \quad \Phi_{k\ell} = \omega_k P_{k\ell} \quad ((k, \ell) \in \mathcal{J}_{\mathbf{m}}),$$

where

$$(4.5) \quad P_{k\ell} \in \mathcal{P}_{m_k-1}, \quad \omega_k(z) := \omega_k(z, \mathbf{a}) := \prod_{i=1, i \neq k}^n (z - a_i)^{m_i} \quad (k = 1, 2, \dots, n, z \in \mathbb{C}).$$

The polynomials $P_{k\ell}$ can be expressed by the partial sums of the Taylor-series expansion

$$(4.6) \quad P_k(z) := P_k(z, \mathbf{a}) := \frac{1 - z^N}{\omega_k(z, \mathbf{a})} = \sum_{j=0}^{\infty} p_{jk}(z - a_k)^j$$

$$(|z - a_k| < r_k, z \in \mathbb{D}, r_k := \min\{|a_j - a_k| : j = 1, 2, \dots, n, j \neq k\}),$$

namely

$$(4.7) \quad P_{k\ell}(z) = (z - a_k)^\ell \sum_{j=0}^{m_k - \ell - 1} p_{jk}(z - a_k)^j \quad (z \in \mathbb{C}, (k, \ell) \in \mathcal{J}_{\mathbf{m}})$$

and by (4.6)

$$p_{jk} = \frac{P_k^{(j)}(a_k, \mathbf{a})}{j!} := \frac{1}{j!} \left. \frac{d^j}{dz^j} P_k(z, \mathbf{a}) \right|_{z=a_k}.$$

We prove

Theorem 4. *Let $\mathbf{a} = (a_1, \dots, a_n) \in \mathbb{D}^n$, where $a_i \neq a_j$, if $1 \leq i, j \leq n$ and $i \neq j$ and fix the vector $\mathbf{m} = (m_1, \dots, m_n)$ with $m_j \in \mathbb{N}^*$ and the natural number $N \geq m := m_1 + \dots + m_n$. Then there exists an unique system of polynomials $\Phi_{(k,\ell)} \in \mathcal{P}_{m-1}$ ($((k, \ell) \in \mathcal{J}_{\mathbf{m}})$) such that the systems $\phi_{(k,\ell)}$ and $\Phi_{(k,\ell)}$ ($((k, \ell) \in \mathcal{J}_{\mathbf{m}})$) are biorthogonal with respect the scalar product (1.3). Moreover the polynomials $\Phi_{(k,\ell)}$ can be written in the form (4.4) and the coefficients of $P_{k\ell}$ are defined by (4.6) and (4.7).*

Proof. By (2.3) for $\zeta \in \mathbb{T}_N$ we have

$$[\Phi_{k\ell}, \phi_{rs}]_N = \frac{1}{N} \sum_{\zeta \in \mathbb{T}_N} \frac{\Phi_{k\ell}(\zeta) \bar{\zeta}^s}{(1 - a_r \bar{\zeta})^{s+1}} = \frac{1}{N} \sum_{\zeta \in \mathbb{T}_N} \frac{\Phi_{k\ell}(\zeta) \zeta}{(\zeta - a_r)^{s+1}} =$$

$$= \frac{1}{2\pi i} \int_{\mathbb{T}_N} \frac{\Phi_{k\ell}(\zeta)}{(\zeta - a_r)^{s+1}} d\zeta = \frac{1}{s!} \left. \frac{d^s}{dz^s} \Phi_{k\ell}(z) \right|_{z=a_r}.$$

and consequently the systems in question are biorthogonal if and only if

$$(4.8) \quad \frac{1}{s!} \frac{d^s}{dz^s} \frac{\Phi_{k\ell}(z)}{1 - z^N} \Big|_{z=a_r} = \delta_{kr} \delta_{\ell s}$$

for any couple $(k, \ell), (r, s) \in \mathcal{J}_m$.

The solutions of equations (4.8) are connected with the weighted Hermite interpolation problem

$$(\rho_N \Phi)^{(j)}(a_i) = b_{ij} \quad ((i, j) \in \mathcal{J}_m),$$

where $\rho_N(z) := (1 - z^N)^{-1}$ ($z \in \mathbb{C}$) is the weight function and b_{ij} are given numbers. Namely the polynomials $\Phi_{k\ell}$ ($(k, \ell) \in \mathcal{J}_m$) can be expressed by the fundamental polynomials of this interpolation problem.

From (4.8) it follows that $\Phi_{k\ell}$ is of the form

$$\Phi_{k\ell}(z) = P_{k\ell}(z) \prod_{j=1, j \neq k}^n (z - a_j)^{m_j} = P_{k\ell}(z) \omega_k(z) \quad (z \in \mathbb{C})$$

and by (4.8)

$$(4.9) \quad (\rho_N \omega_k P_{k\ell})^{(j)}(a_k) = \delta_j^\ell j! \quad (\ell \leq j < m_k).$$

This is equivalent to

$$\sum_{i=0}^j \binom{j}{i} (\rho_N \omega_k)^{(j-i)}(a_k) P_{k\ell}^{(i)}(a_k) = \delta_j^\ell j! \quad (\ell \leq j < m_k).$$

Thus $P_{k\ell}^{(i)}(a_k) = 0$, if $i < \ell$ and

$$(4.10) \quad \sum_{i=\ell}^j \frac{(\rho_N \omega_k)^{(j-i)}(a_k)}{(j-i)!} \frac{P_{k\ell}^{(i)}(a_k)}{i!} = \delta_j^\ell \quad (\ell \leq j < m_k).$$

We consider the infinite system of linear equations with respect to $p_{k0}, p_{k1}, \dots, p_{ki}, \dots$:

$$(4.11) \quad \sum_{i=0}^j \frac{(\rho_N \omega_k)^{(j-i)}(a_k)}{(j-i)!} p_{ki} = \delta_0^j \quad (j \in \mathbb{N}).$$

The coefficient of p_{kj} in j -th equation is $(\rho_N \omega_k)(a_k) \neq 0$, consequently this system has a unique solution. Comparing this with (4.10) and (4.11) we get

$$\frac{P_{k\ell}^{(i)}(a_k)}{i!} = p_{k(\ell-i)} \quad (i \geq \ell).$$

It is clear that the Taylor-coefficients of the function

$$P_k(z) := \frac{1 - z^N}{\omega_k(z)} = \sum_{j=0}^{\infty} p_{kj}(z - a_k)^j \quad (|z - a_k| < r_k)$$

satisfy (4.11) and Theorem 2 is proved.

To evaluate the numbers p_{kj} we introduce the function

$$S_k(z) := \frac{P'_k(z)}{P_k(z)} = \sum_{j=0}^{N-1} \frac{1}{z - \epsilon_N^j} - \sum_{j=1, j \neq k}^n \frac{1}{z - a_j} \quad (|z - a_k| < r_k),$$

where $\epsilon_N^j = \exp(2\pi i j/N)$. Hence by

$$P_k^{(\ell+1)}(a_k) = \sum_{j=0}^{\ell} \binom{\ell}{j} P_k^{(j)}(a_k) S_k^{(\ell-j)}(a_k) \quad (\ell \in \mathbb{N})$$

we get the following recursion:

$$(4.12) \quad p_{k(\ell+1)} = \frac{1}{\ell+1} \sum_{j=0}^{\ell} p_{kj} s_{k(\ell-j)} \quad (\ell \in \mathbb{N}),$$

where

$$(4.13) \quad s_{ki} := \frac{S_k^{(i)}(a_k)}{i!} = \sum_{j=0}^{N-1} \frac{(-1)^i}{(a_k - \epsilon_N^j)^{i+1}} - \sum_{j=1, j \neq k}^n \frac{(-1)^i}{(a_k - a_j)^{i+1}} \quad (i \in \mathbb{N}).$$

On the basis (4.12) and (4.13) the coefficients p_{kj} can be computed.

References

- [1] **Dudley Ward N.F. and Partington J.R.**, Robust identification in the disc algebra using rational wavelets and orthonormal basis functions, *Int. J. Control*, **64** (3) (1996), 409-423.
- [2] **Garnett J.B.**, *Bounded analytic functions*, Academic Press, 1981.
- [3] **Henrici P.**, *Applied and computational complex analysis*, John Wiley & Sons, 1987.
- [4] **Partington J.R.**, Robust identification and interpolation in H^∞ , *Int. J. Control*, **54** (5) (1991), 1281-1290.
- [5] **Schipp F. and Bokor J.**, Identification in Laguerre and Kautz basis, *Automatica*, **34** (4) (1998), 463-468.
- [6] **Soumelidis A., Pap M., Schipp F. and Bokor J.**, Frequency domain identification of partial fraction models, *Automatic Control, Barcelona, Spain, 2002*, Barcelona, Spain, 2002, CD.
- [7] **Zygmund A.**, *Trigonometric series*, Cambridge University Press, Cambridge, 1959.

(Received February 16, 2004)

M. Pap

Institute of Mathematics
and Informatics
University of Pécs
Ifjúság u. 6.
H-7624 Pécs
papm@ttk.pte.hu

F. Schipp

Department of Numerical Analysis
Eötvös Loránd University
Pázmány Péter s. 1/C
H-1117 Budapest, Hungary
Computer and Automation Inst. of HAS
Kende u. 13-17.
H-1502 Budapest, Hungary
schipp@ludens.elte.hu